C:# Vergleich mit absoluten Werten

Name:

Benutze >, < und = um zu vergleichen. Antworten
) |-10] 58 .
2 -31 48 ,
3 28 -3 ,
4 45  -74

- 4,
5 -31 87| ]
6 75 30 .
0 46| 82 ,
8 25 46 .
9 |89  |60] .
10 6| |-5| 0
11) .59 -38 "
12) |51 |29 o
) |2|—_3 13.
149) 42| |78 "
15 731 77| .
16) 96  |-86] .
17 |-60|  |-57] .
¥ 42 19 18,
19) |13 |51 o
20) |67 |57| o
[ Mathe Y\ commoncoresnestsae 2 1120 [ 403055 20 15]20] 5 0




C:# Vergleich mit absoluten Werten

Name: L Osungsschlissel
Benutze >, < und = um zu vergleichen. Antworten
D |-10] < 58 . <
2) -31 < 48 , <
3 28 > -3 s S
4 -45 > -74 . S
5 -31 < |87] . -
6 75 > 30 . S
7 |46 < 82 § -
8 25 < 46 . <
9 |-89] > |60] o >
10) 6| > |5 o >
11) .59 < -38 " <
12) 151] > |29 » S
) el > -3 13, >
14) 42| < |-78 " <
15 73] < [77| . <
16) 96 > |-86| . S
17) }-60| > |-57| . S
19 42 < |9 18, <
19) 13| < |51 o <
20) |-67| > |57| o S
[ Mathe Y\ commoncoresnestsae 2 1120 [ Ta0lss [0 20 15 20 51 0




